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Part A

Answer all questions on this paper itself . 2 marks are awarded for one question

1
01. Simplify. —+ 3
3x x

02. To finish a certain work it needs 50 man days to be worked . What is the remaining part of the

work in man days when 4 men worked for 9 days .
03. Following Venn diagram shows the information obtained

from the members of a sports club about their volleyball @e footbafl

willingness for volleyball and football games . Describe

the shaded region in words .
04. 2x-1<3 Solve the inequality and write all positive integer solutions of it .

A A A
05. Inthe diagram AC =BC . If ACD= 130" find the value of ABC.
X 4 goo D

06. Express in logarithm form 27 =0.125
07. Find the time it takes to fill an empty tank with water by a tube in which water is flowing at

the rate of 40 liters per a minute.
08.  Find the factors. 100 - x*
09. ABCD is a parallelogram . Find the value of BCD
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2 1
10. If A=[3 -1] and B= [1 3} find AB.
11.  Showing in the given figure, there is a semicircular sector upon one side of
an equilateral triangle. Find the perimeter of the composite figure.
14 cm
12. The assessed annual value of a shop building is Rs. 60 000. Rs. 2 250 was paid as rates for a
quarter for it . What is the percentage of rates charged by that local government authority?
13.  Fill in the blanks with suitable geometrical terms .
The line joining the mid points of two sides of a triangle is ..................... to the remaining
side, anditisequaltothe ................. of the length of the remaining side .
14.  Find the common ratio of the geometric progression in which the first term is 2 and the fourth
term is 54 .
15. AB is a chord of the circle in which the center is O. Mid point of AB is
T. According to the data shown on the diagram mark ( tw* ) if the
expression in the table is correct and mark ( X ) if it is wrong.
ATO =90* A B
AOT=BOT
16.  Write the equation of the straight line PQ shown on the diagram.

17. Triangles ABC and PQR are
congruent. According to the data P
shown on the diagram,

(1) State the case of conguency
(i1) What is the equal side for the side BC?

B BN\ bl R

18.

What is the probability of having an odd number when a fair cuboid shaped dice in which
numbers from 1 to 6 are marked, is tossed once.
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19. A,B,C,D are four points on the circle in which the center is O .
According to the given data find the values of x and y

20. Solve 5—-—=2

21. AP and BQ are two houses and P and Q are two windows
of them.AB is a flat land. According to the data marked on -
the diagram name the angle of depression of A when g
observed from Q and find the magnitude of it .

22.  The histogram given here represents the information about
the number of hours spent for studying at home by a group of Number of 5

students. Accordingly complete the blanks of the given table. ~ students ,
Hours number of 3
students 2
0-2 4 1
2-4 0 2 4 6 8
4-8 - Time (Hours)
S
23. P,Q,R,S, are points on the circle in which the center is O . Find the 5
value of x
P - R

24. The area of the cross section of a right solid prism is 240 cm® . If the height of it is 15 cm
find the volume of the prism

25. ABCD is a rectangular lamina . A small hole P is to be made “
there with a 7 cm distance from the AB edge and 10 cm T 10 em
distance from the point D . Show by a rough sketch on this .
diagram , how to locate the point P A L B

12 cm
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Part B

01. Raja spends a certain portion of the annual profit of his business for welfare activities . g of it
is to be spent for religious activities and i is for developing the education facilities of the

area . He intends to donate g of the remainder to volunteer organizations in the area .

i.  What fraction of the total amount is spending for religious and educational activities ?

ii. What fraction of the whole amount is separated for volunteer organizations ?

iii. IfRs. 30 000 is remaining after separating for religious and educational activities and
volunteer organizations , what is the total amount of money separated for all welfare
activities.

2. Arough sketch of a compound in the shape of a sector is shown in the diagram C

1. Find the length of the arc AC

ii. Flower plants are planted in the area of the segment
separated by the straight line AC .What is the area of that 14 cm
segment ?

iil. Another rectangular part equal to three times of the area where flowers are planted , is to
be added to the compound . AB must be one boundary of it . Draw the rough sketch of it on
the given diagram showing the relevant measurements

iv. Find the perimeter of the whole compound including the newly added part also .

-5- 06Hs (R88) - 1 one - (B8Y 08)
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3. Mayura invested money on shares of companies A and B . The market price of a share and
the dividend paid per a share in each company is shown in the table given below
Market price of a share dividend per a share
Company A Rs. 80 Rs. 6
Company B Rs. 120 Rs. 8
i.  If 240 shares of company A is bought find the dividend income of received from A
ii. Ifthe dividend income of company B is Rs. 720 find the amount invested in
company B
iii.  Find the total amount invested in both companies .
iv. If he has invested the total amount in company A only , by what amount the
dividend income would be increased
4.  (a) Number of marks obtained by grade 10 students in a test for aesthetic subject are as

follows

2233,4,6,6,7,8,8,8,9,9,10,12

Find the first and third quartiles of this group of marks, and then find the interquartile

range of it

(b) The number of students in the above group is separated in to four equal class intervals

Marks obtained students | angle of the sector
1-3 4 96"
4- 6 3 72°
7- 9 --- -—--
10-12 --- -—--

i.  Complete the column of students

ii. Complete the column “angle of the sector”

marks
10-12

marks
7-9

marks

1--3

marks
4 -6

iil.  According to the completed columns enter the magnitudes of angles in the pie chart

iv. Because of a correction of marks ,angle of the sector of the class interval 4 — 6 is

changed to 120° How many students are increased in that class interval ?
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(a) Ruvini bought 5 plants of Anthuriams .Three of them are blossoming red flowers(R) and
two of them are blossoming white flowers( W). To plant them she bought five flower vases
also.Three of the vases are red ( R) in colour and two vases are black in colour (B)

1. One plant is planted by selecting a plant and a vase

at random. Mark the sample space of all possible gl(;lcv)zze()f ()

outcomes of selecting a plant and a vase, by* X *marks

on the given grid.

ii. Indicate the events that shows selecting the colour of the flower >
and the colour of the vase are same by encircling it in the grid and Colour of the
find the probability of selecting a same colour plant and a vase. flower

(b) There are 12 workers in a certain work place. 8 workers out of them are trained workers
and the others are untrained. Manager of the work place selected a worker at random and
appointed him to a certain work to finish within one week .

i.  Complete the following tree diagram to represent the probabilities of the selected worker

being a trained one or untrained one

Trained
worker

Untrained
worker

ii. It is believed that ,if the selected worker is a trained one the probability of finishing the
given work in one week is 2 and if the selected worker is an untrained one ,the probability of

finishing the work in one week is % .Extend the given tree diagram to represent the relevant

probabilities .

iii. Find the probability of the selected worker being able to finish the given work in one
week time .



https://pastpapers.wiki/

( £3D0OPD B @BBD) @8I D )
FLITH(LP6YU LDTHTENT H6VaS 56 6ewTd s eTLd
L Sabaragamuwa Provincial Department of Education )
(" )
Third Term Test 2020 Grade 11
- J
S
[ Mathematics 11 ] [ Three hours
J

* Select 5 questions from part A and 5questions from part B and answer 10 questions only
 Write the relevant steps and correct units in answering the questions

* Each question carries 10 marks
* The volume of a right circular cone with the base radius r and right height h is é nr’h

« The volume of a right circular cylinder with the base radius r and right height h is 7rr’h

Part A

Answer 5 questions only

01. An incomplete table showing the y values corresponding to several x values of the quadratic
function y =5—(x—1)" within the interval —2 < x <4is given below

X 2 |-1 |0 1 2 3 4
y -4 |1 4 5 4 1
1. Find the value of y when x =4

it.  Using the standard system of axes and a suitable scale , draw the graph of the given
quadratic function on a graph paper

1. Draw the axis of symmetry of the graph and write the equation of it

iv.  Write the range of x values which satisfies the inequalities 0 > x and 0 <y

2

V. The graph of the function y=35 - x” can be obtained by changing the location of the

drawn graph .Find the values of x when y = 0 of the graph y =5 - x*

02. Jayanatha borrowed Rs. 60 000 from a financial institute to repair his house . It is to be paid
back in 10 equal monthly installments with 16% annual interest rate . The interest is
calculated according to the reducing balance.

1. Find the value of a monthly installment
ii. If the above mentioned loan is taken under 1% monthly simple interest rate, show that
the interest to be paid after ten months is greater than the interest paid in installments as

calculated in above (i)

-1- 06HvE (9:88) - Il o - (B9 04)
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03. The masses of chilly harvest that Isuru plucked from his chilly cultivation in 28 turns are as
follows.

Mass 20-24 | 24-28 | 28-32 | 32-36 | 36-40 | 40-44 | 44-48
(kg)
Number of 2 4 6 9 3 2 2
Times

(20 — 24 means , 20 or more than 20 and less than 24 )
1. According to the table find the mean mass of chilies plucked in one turn
ii.  Ifthe price of one kilogram of chilies is Rs. 450 what is the income that he can expect
to receive by selling chilies in first 20 turns .
iii.  After the first 28 turns, the mean mass of chilies plucked in next 7 turns is 23 kg .

What is the mean mass of chilies plucked in whole 35 turns

04. Sadik is a fruit seller . One day he bought a stock of watermelons of 160 kg and separated it
into two heaps as big ones and small ones . He sold big watermelons for Rs. 100 each and

small ones for Rs. 80 each .

e The number of big melons is 30 more than the small melons
e The income received by selling big melons is Rs. 4700 more than the income
received by selling small melons .

i.  Build up a pair of simultaneous equations by taking the number of big melons as x
and the number of small melons as y and by solving them find the number of melons

in each type

ii. If he has bought one kilogram of melons for Rs. 70 show that the total profit he
receives by selling melons is Rs. 7100

05. (a) An observer who is standing 40 m distance away from a vertical tower on a flat land
sees the top of a tower with an angle of elivation 30° .

i.  Draw a scale diagram by representing 5 m of the actual distance by 1 cm
ii. Using the scale diagram find the height of the tower correct to the nearest meter .

(b) AB is a flat ground and BC is one side of a building . AB = 80 m and the angle of elivation
of C from A is 43"
C

1. Find the height of BC
.. If the point D is situated between A and B and CD = 80 m

find the magnitude of the angle BDC -



https://pastpapers.wiki/

06. The base radius of a right solid cylinder is r and the height of it is 4 cm more than the radius
1. Denote the height of the cylinder using “ r”’

ii. Ifthe area of the curved surface of it is 88 cm” show that * r’ satisfies the quadratic

equation P+ 4r -14=0 (7;:27_2J

iii. By solving this equation show that the base radius of the cylinder is 3J2-2 and by

using it find the height of the cylinder (\/5 = 1.41)

Part B — Answer five questions only

07. (a) On a board prepared for an activity of mathematics in primary classes , there are small
squares drawn and numbered from 1 to 20 respectively . On each square a certain number of
buttons are kept and the number of buttons so kept are in an arithmetic progression such that
the number on each square is three more than the number on the previous square .

When 6 boxes including 100 buttons in each one are using to keep buttons like this it seems
that the number of buttons on the 18" square is 58 but the remaining number is not enough to
complete the 19" square . Find the number of buttons remaining after keeping on the 18"
square.

(b) The sum of the first 6 terms of a geometric progression is 381 . Find the 7 M term of this
progression.

08. Use only a straight edge with cm / mm scale and a pair of compasses for the following
constructions.The construction lines should be drawn clearly .

1. Draw the straight line AB = 7 cm and construct the perpendicular bisector of it

it. Construct the circle in which AB is a chord and the radius is 4 cm. Name the centre of
the circle as O

iii. Construct a tangent to the circle at A and name it as MAT .

iv. Construct a parallel line to the tangent AT at B and name the point it intersect the
circle as C

v. Name an angle equal to ACB and give reasons for it .

09. In the triangle ABC , AB=AC. D isonthe line AC. Line AB is
produced such that CD = BE . DF is drawn parallel to AB . D

i.  Prove that DFC is an isosceles triangle .

it. If the lines BC and DE intersect at T prove that y F ¢
ABTE = ADFT .

DF
iii.  Prove that BDFE is a parallelogram. iv.  Write an equal ratio to B
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10. The thickness of a solid metal cylindrical plate in which the radius is r is % cm.

1. Find the volume of the plate in 7 and r

ii.  Find the volume of a solid metal cone in which the base radius is 2r and right height is

6 cm,inmand r

iii. The cone is made by melting 12 metal plates . If 99 cm’ of metal is remaining after the
. 11
making of the cone show that r=3,[—
T

iv. Using the logarithm tables find the radius of a cylindrical metal plate . Take 7= 3.14

11. In an exhibition of a school ,in the stall run by the past pupils association there were shirts ,
umbrellas , and caps in school colours to be sold . As the number of caps is limited ,caps are
issued to customers only who buys a shirt . .

In a certain time period 40 people came to the stall and the following incompleted Venn
diagram shows the information about their buying . Copy this Venn diagram to your answer
script and complete it according to the given data .

40
FU S

1. "A" shows the people who bought umbrellas . Name the two sets B and C appropriatly .
ii. Number of people who bought umbrellas is 25 and number who bought shirts is

22. What is the number of people who bought only umbrellas.
iii. The number of people who bought only two types of items from above three types is

19 . How many people have bought caps ?

iv. Name the set who bought only shirts, in set notation using A , B and C

12. In the triangle ABE , AB = AE . The circle in which the diameter is
AB intersect the lines BE and AE at C and D respectively .

1. Prove that A ABC = A AEC

ii. The tangent drawn to the circle at C intersect the line AE at T.

Prove that DT = TE C
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ii.

iil.

1v.

x=4o» 8oy=-4
Booe e
BOGe es
300 D@

x=1

ades a@®0
-1.2(x0.1) <x <0

2.2(0.1) <x < 2.2(x0.1)

1+1
1+1

S)

02.

ii.

60000 — 6000
10

6000x 10 » L =80

Q><11=55
2

80x55
60 000+4 400=64 400

64400 = 5. 6 440
10

60000x —— %10 = 6000
100

4400 <6 000

1+1

1+1

03.

ii.

1il.

20-24 22
24-28 26
28-32 30

o N B~ N

32-36 34

36-40 38

40-44 42

44-48 46 2
28

44
104
180
306

114
84
92
924
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07.

(a)

(b)
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a=7

n
Sn=—(a+!
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18
= =(7+58
2( )
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a2’ -1)
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=192

08.

ii.

1il.

1v.

AB

COR we®dedemas

O exdsice

D

eSbames

@530 ebd

BAT/ABC/MAC

205390 Dasd Deddded emien @0F
gcey e

09.

il.

ABC=ACB(AB = AC Se)
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Part A
Answer all question on this paper it self

. Select the 1% approximation of V67 using the answer given below.

81,82, 83, 84

. Two identical pumps are taken two hours to empty a water pool. How many hours will it take
to empty the same water pool using 3 identical pumps ?

. A provincial council charges Rs. 7500 for year as rates for a property. The annual assessed value of the
property is Rs. 50 000. find the percentage of annual rates.

Cif x2+bx+c=(x+5) (x—2),findbandc

. Using the information given in the figure, find the value of x.

6. Represent in index form logz; x =4

7. In the given figure, the curved surface area of a solid right circular is 220 cm? . Find the height of the

cylinder.
Y

N

- J
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8. The following distance - time graph that represent the journey of a taxi. If Rs. 50 charges for 1 km of
travelling, find the total amount charge for the journey.

¢d (km)

200

‘U S R

9. Simplify. %

10. Find the gradient of the line graph shown in the given figure.

v/

7

11. Solve. x2—1=0

12. Parallelogram ABCD is shown in the figure find the value of BEC according to the given information.

D E C

1009

A

13. A man takes a loan of Rs. 50 000 under the 8% of annual interest rate. How many years taken to settle
the loan by paying Rs. 8000 as total interest.

- J
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14. Write the 10" term of the geometer progression where the first term 4 and the common ratio 2,
as power of 2.

2

15 simplify, 10x+x7

16. The center of the circle in the given figure is “O”. Find the magnitude of x where 0BA =50°

17.  Find the test common multiple of the following three algebraic terms.

2x% , 10xy, 2xy?

18. AB is the diameter of the circle with the Centre “O”. Find the radius of the circle where

AC =8 cm and BC = 6 cm in the given figure. c
A
B

19. Write the other pair of elements to be equal to congruent the following pair of triangles.under
the angle, angle, side case (A,A,S) according to the given data.

R
A
C f :E Q
P
- Y,
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(20. In the given figure AB=BC=CD=DE. Find the length of EF where Bl = 2 cm.

21. Perimeter of the semicircle of the radius 7 cm is 36 cm . Find the arc length of the semicircle
show in the given figure.

7cm

22. In the given venn diagram, Shade the region that represent the boys.

Child with umbrella —_| Girls

23. It is needed to grow two trees on the BC boundary of the certain land, 5 m away from post
“A” . Draw a sketches of the above using the knowledge of loci, named the above point as
“X” and CLY”.

24. 2,4,6,7,8,9,14 using the above frequency distribution. Find the inter quartile range.

25. Mark “w” in front of the simple event among the event given below.

The event of getting head of tossing unbiased coin.

The event of getting even numbers, when tossing unbiased die
numbered from 1 to 6.

The event of getting red bead from a bag contain 1 red and 2
white and 3 yellow bead’s

\

J
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Part B
Answer all question on this paper it self.

1. In a country where an epidemic is spreading, people suspected of having disease are referred to
quarantine. But g of the people who are referred to quarantine are not having disease.

1) What fraction of total people who are referred to quarantine are having disease.

i) % Of the people who having disease in the quarantine Centre are coming from abroad.
What fraction of total are coming from abroad.

iii) The rest of 15 people who having disease are in the quarantine Centre. Find the total
number of people who are referred to quarantine.

iv) % of total , who are referred to quarantine are male. Find the number of female are

referred to quarantine.

-

2. The land consists of a portion ABC in the shape of a right angled triangle and BCD
semicircular portion with BC = 28 cm.

i) Find the radius of the semicircular portion.

ii) Find the area of BCD semicircular portion.

iii) Find the length of AB where the area of ABC right angled triangle is equal to the area
of BCD semicircular portion.

iv) The length of AC= 35.6 m approximately. Find the total length of wire needed to
make fance 3 round around the land.

J
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3. Mr.Sunil who getting loan of Rs. 40 000 at a compound interest rate of 8% per year. Then the
invest that amount of loan to bought shares in a company at the market price of Rs. 20 per
share. The company pays annual dividends of Rs. 3 per share.

i) Find the interest to the loan for the 1% year.

i) Calculate the total amount required to repay the entire loan in two years.

iii) Find the annual dividend’s income that he receives from this investment.

iv) After two years , he sold all the shares at the current market price of Rs. 23 per share
and paid off the loan together with the interest. Find the amount of money he has left at
the end of the 2 years.

~N

4. The following incomplete frequency distribution and corresponding incomplete histogram have
been prepared using the amount of rice sold withing 30 day in a shop. ”Here 15-25 denotes the
amount of interval greater than 15 and less than or equal to 25 and the other intervals denotes

similarly. Days

Amount of rice
(kg)
5-10 2

10-15 3
15-25

Days

25-30

30-45

! | ! | ! | |
I T

1 1 T T T
45 -50 0 5 10 15 20 25 30 3540 45 50 55

Amount of rice (kg)

i) Fill in the blank of the above frequency table.

i) Complete the histogram.

1ii)Express the number of days which sold more than 25 kg of rice as percentage of total
number of days.

iv) Draw the frequency polygon on the histogram.
.

J
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5. 5 Students who come to a restaurant bought 3 parcels of fish meals (F) and 2 parcels of

\-

Vegetable meals (V) on the 1% day. on the 2" day they bought 2 parcels of fish meals and 3
parcel of vegetable meals.
i) Using the symbol " x " mark the sample space of a two parcels of meal bought by a
student randomly the given grid.

2" Day

1% Day
F1 F2 F3 V1 V2

ii) Indicate the event that random selected student who bought same types of meal on the 2
days on the sample space and find its probability.

iii) The following incompleted diagram is represents the meal bought by 5 student in the
two days as shown below.

2" Day

1% Day

\%

a) Complete the tree of diagram by indicating all the relevant probability.
b) Find the probability of student who bought parcel of fish meal at least once.

~N
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.

Important:
% Answer ten questions selecting five questions from Part A and five questions from Part B.
# Write the relevant steps and the correct units in answering the questions.

# Each question carries 10 marks.
* The volume of a right circular cylinder of radius r and height h is r?h.

Part A
Answer five questions only.

1. An incomplete table of values prepared to draw a graph of a quadratic function is given below.

By considering the symmetry of the quadratic function obtain the value suitable for the
blank.

Using the scale of 10 small divisions representing one unit along the x axis and along the y
axis draw the graph of the above function on a graph paper.

Write down the interval of values of x on which the function is increasing positively.
Suppose that the function of the graph is written in the form y = —(x — p)? + q. Indicate
the point (p, q) on the graph as A.

Using the graph, find the positive root of x such that —x? + 4x = 0 to the first decimal

place.

\_ J
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2. The information regarding the number of lottery sales within a 30 days month collected by a
lottery seller is given below.

No of lotteries | 150-250 | 250-350 @ 350-450 | 450-550 | 550-650 | 650-750 | 750-850

No of days 3 2 5 9 3 6 2

i.  Write down the modal class of the distribution.

ii. By taking the mid value of the modal class as the assumed mean or otherwise, find the
mean number of lottery sold within a day to the nearest whole number.

iii. The seller gets a commission of 3 rupees per lottery he sells. If the seller sells a lottery
tickets for 20 rupees. find the total commission he receives in a day

iv. 10% of the remaining amount is received by the lottery distributor, after paying the
commission to the lottery seller. Accordingly show that the lottery distributor earns more
than 26 000 rupees within a month by the lottery sales of this lottery seller.

3. Nimesh bought a television set worth 180 000 rupees by paying the half of the value as the
down payment and agreed to pay the rest in 10 equal monthly instaliments at 20% annual
interest rate where the interest is calculated on the racing loan balance.

“If Nimesh has 110 000 rupees with him, he will be able to pay two monthly installments and
the down payments.”

State with reasons and appropriate calculations whether this statement is true.

4. (a) Ashen has 100 rupees out of 5 rupee coins and 10 rupee coins. The number of 5 rupee coins
is twice the number of 10 rupee coins.

taking the number of 5 rupee coins as x and the number of 10 rupee coins as y construct a
pair of simultaneous equations in x and y.

Solve the pair of simultaneous equations and find separately the number of 5 rupee coins and
10 rupee coins.

(b) Solve the inequality 45p + 750 > 1100 and find the minimum integral value that p can
take.

5.a) The length breadth and height of a water tank in a pumping station are 5m,3m,2m
respectively.
i.  Calculate the volume of water required to fill the tank completely.
ii.  The tank discharges water in to an empty cylindrical tank with a cross-sectional area
of 3.2 m2. If the cylindrical tank fills to a height of 3 m in 40 minutes, show that the
water flows at the rate of 240 liters per minute.

3/56.5

b) Using the logarithms table, find the value of ooe

- J
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6. The length of a rectangle is 6 cm and the breadth is 2 cm. A new rectangle is formed by
reducing x cm from the length and adding x cm to the breadth of this rectangle. If the area of
the new rectangle is 13 cm?. show that x? —4x —2 =0 and by solving the quadratic
equation find the value of x correct to the first decimal place.

(Take the value of V6 as 2-44 )

- J
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Part B
Answer five guestions only.

\

7. A private computer training institute is conducts 15 days of computer training course
including theory and practical training. The practical training is conduct 75 minutes on the
first day and 15 minutes more than the previous day on the days.

i) Kumara is a trainee who completed the computer course; Find the how many hours
did he spend on the last day of practical training.

i) If the number of days the course was held is n, show that the total time of practical
training in n days is g (135 + 15n ) minutes.

iii) Find the total time he received practical during the course in hours.
iv) If Rs. 200 per hour was charged for practical training, Find the total amount that
Kumara has to pay for practical training ?

8. Use only a straight edge with a cm/mm scale and a pair of compasses for the following
constructions. Show the construction lines clearly.

i) Construct the triangle PQR such that PQ = QR = 7.5 cm and P(fR =90°

i) Construct the perpendicular bisector of PQ and named the interesting point of PQ and
PR as X and Y respectively.

iii) Construct the circle with PQ as diameter.

Iv) The perpendicular bisector of PQ intersects the circle at Z , complete PZQR
quadrilateral and write a special name of that quadrilateral.

v) Show that QR = 2XY

9. In the trapezium ABCD given in the figure, AB // BC. E is the midpoint of BC.
BC = 2AD and the lines AE and BD intersect at O

A D

B
i) Prove that BO = OD.
i) Show that the quadrilateral OECD is a trapezium.
iii)Name a triangle which is equal to the area of the triangle ABD, giving reasons.

10. A solid metal cylinder and metal cone with radius of the base is r and height is twice of its
radius. Melted both cylinder and cone, made 26 solid metal spheres without wasting metal.

3
Show that the total volume of metal of the sphere and cone is BnTr hence Show that a = % :

J
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11. The sports unit of Jayasumana maha vidyalaya called up the boys and girls squad to select the

school the school volleyball and cricket. 36 boys are selected to the team and 20 of them are
selected to the volleyball team. 46 students are selected to the volleyball team. The number
girls are selected to the cricket is exactly half the boys who selected to the squad.

i) Copy the given Venn diagram in your answer script and include above information in
diagram.

[l
C

Students of
Vollyball team

ii) Shade the regions which represent the girls who are selected to the volleyball.

iii)Find the total number of students who are selected to the school team.

iv) Show that the boys of volleyball team is 25% of students who are selected to the school
team.

A
. PQ is a diameter of the circle with centre of O. R is the point on the circle and QPR = 30°.
The bisector of PQR is intersect the circle at S. Show that SPQ is bisected by PR and prove

that QRSO is a parallelogram.

~N
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